J:COM NET #—b % HASH Y =282

(20224E7 1 1HLIBRIC SRMOBHE S ) WL LHEE
[ECIINER S 25 [fE%€ [J:COM o — 2% (3%2) TR Ee T L% WA FURERFDER (Bidk) | A 4RI REF (BLIA) | ZRAOMREREL (Bidk) [ ZRAMRRREL (BiiA) | (fiF5)
MR [JERE |LINK/4KJB/SJB/STV
B%
o2k A~ — bRV /N EAET) 4 %4 [J:coM TV+NET - 40Ma—A  [2,785[ (BiiA3,063M1) 4,000/ (BiiA4,400117) FORLASZ A HET (72720 SRR
fE5E |LINK/4KJB/SJB TS AEREET)
220 | A~ — T EL 7N ESHEE) 1 |54 [J:COM TV+NET - 120M=—=2 3,071 (BisA3,3781) 4,000/ (BiiA4,400117) BIRASZ AT (72720 AR
fE% |LINK/4KJB/SJB B A EREET)
H20f| A~ — L/ EAREE) 14 |4 |J:CcoM TV+NET EEREWI-FIE T A 320M=—2 3,547 (BiiA3,901117) 4,000 (BiiA4,40019) -
{E5 |LINK/4KJB/SJB /Pod
2R A~ — bRV 7 EAETE) 4 |54 [J:COM TV+NET FHEBEWI-FIET & 1G2—= 4,047 (Biir4,4511) 4,000 (FiiA4,40019)
fE% |LINK/4KJB/SJB /Pod
H20f| A~ — L/ EAEE) 4 |[%4 [J:CoM TV+NET R REWI-FIE T A JE1Ga—A [4,0471 (BiiA4,4511) 4,000 (BiiA4,40019) -
{E5 |LINK/4KJB/SJB /Pod
2R A~ —b RV 7 EAETE) 1 |54 [J:COM TV+NET FHEBEWI-FIET & Je5Ga—A 4,547 (BiiA5,00119) 4,000 (FiiA4,40019)
fE% |LINK/4KJB/SJB /Pod
F20ff| A~ — L/ EAREE) 14 |[%4 [J:CoM TV+NET R REWI-FIE T A Je10Ga—=  [5,327M (BiiA5,85911) 4,000 (BiiA4,40019) -
{E5 |LINK/4KJB/SJB /Pod
F23F| A~ — PR (24E2) 24 |4 [J:coM TV+NET - 4OM=1— A 2,785/ (BiiA3,06319) 4,000 (BiiA4,4007) BOHIRGAS AT (F2720 HAEDREISED
fE% |LINK/4KJB/SJB B A EREET)
H23fl| A~ — bR EL 7 QL) 24F  [FAt [J:CcOM TV+NET - 120M=—A 3,071 (FiiA3,3781) 4,000 (BiiA4,4007) FHHLAZAHE T (2720 . B2 ICERD
{15 |LINK/4KJB/SJB TG AEREET)
F23F| A~ — PR (24E2) 24 |4 [J:cOM TV+NET FHEBEWI-FIET & 320M=—% 3,547 (BiiA3,9011) 4,000 (FiiA4,40019)
fE% |LINK/4KJB/SJB /Pod
H23ff| A~ — bR EEL 7 QL) 2 |FHE [J:CcOM TV+NET EHEREWI-FIiTT A 1Ga—* 4,047 (Fiir4,4511) 4,000 (BiiA4,400117) -
{E5 |LINK/4KJB/SJB /Pod
F23F| A~ — PR (24E2) 24 |4 [J:cOM TV+NET FHEBEWI-FIET & Je1Ga—= [4,047M (Biir4,451H) 4,000 (FiiA4,40019)
fE% |LINK/4KJB/SJB /Pod
H23ff| A~ — bR EL 7 Q) 24 |FHE [J:COM TV+NET EHEREWI-FIiTT A H5Ga—A (4,547 (BiiA5,00111) 4,000 (BiiA4,400117) -
{E5 |LINK/4KJB/SJB /Pod
F23F| A~ — PR (24E2) 24 |4 [J:cOM TV+NET FHEBEWI-FIET A JE10Ga—= [5,3271] (BiiA5,859M) 4,000 (FiiA4,40019)
fE% |LINK/4KJB/SJB /Pod
637 [In My Room Bl 7Z 24E |44 |l:CcOM TVANET (TVZFUB |- F1G—= (3,180 (FiiA3,4981) 1,000 (BiiA1,100117) -
{E5 |LINK/4KJB/SJB a7 R+12M,
40M)
#563%E[In My Room F55I| 7 26 |25 |J:COM TVANET (TVZZUB |- 320M=t—%  [2,680F1] (BiiA2,948M9) 1,000 (BiiA1,100M9)
fE% |LINK/4KJB/SJB 2L YR+ 12M,
40M)
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J:COM NET #—b % HASH Y =282

(20224E7 1 1HLIBRIC SRMOBHE S ) WL LHEE
[ECIINER S 25 [fE%€ [J:COM o — 2% (3%2) TR Ee T L% WA FURERFDER (Bidk) | A 4RI REF (BLIA) | ZRAOMREREL (Bidk) [ ZRAMRRREL (BiiA) | (fiF5)
MR [JERE |LINK/4KJB/SJB/STV
B%
637 [In My Room Bl 7Z2 24E |44 |J:CcoOM TVANET (TVZZUB |- 1Ga—* 3,180 (FiiA3,4981) 1,000 (BiiA1,100117) -
{E5 |LINK/4KJB/SJB a7 R+12M,
40M)
H363F%[In My Room F5517F> 26 |25 |J:COM TVANET (TVZZUB |- 56— (3,680 (BiiA4,048M9) 1,000 (BiiA1,10019) -
fE% |LINK/4KJB/SJB 2L YR+ 12M,
40M)
637 In My Room HBI7F> 24 |4 [1:CoM TVHNET (TVZFUB |- JE10Ga—A (4,460 (Biir4,9061) 1,000 (BiiA1,10019) -
{E5 |LINK/4KJB/SJB a7 R+12M,
40M)
FF| A~ — b EL 7N ESGET) WA |14 |44 [1:COM TVNET+4 A - VEES 2,785M (BiiA3,06319) 4,000 (BiiA4,4007) FOHIRGAS AT (F2720 LR IED
v {15 |LINK/4KJB/SJB IE A EREET)
88| A~V —bBIEL /MRS ET) HA |14E |54 [1:COM TVANET+4 A EHEREWI-FIiTT A 320M=T—=A  [3,547H] (BiiA3,9011) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
FF| A~ — b EL 7N ESGET) WA |14 |44 [1:COM TVNET+4 A - 120M=1—%  [3,071[ (BiiA3,378M) 4,000 (BiiA4,4007) BOHIRGAS AT (F2720 HAEDRE RO
yh {15 |LINK/4KJB/SJB IEEEREET)
88| A~ —bBIEL /N ESET) HA |I4E |4 [1:COM TVNET+4 A EHEREWI-FIiTT A 1Ga—* 4,047 (Fiir4,4511) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
F88HE| A~ — T EL /N EREE) VA |14 |54 [):COM TVHNET+4 A EFEREWI-FiTT & Je1Ga—A [4,047H (BisA4,4511) 4,000/ (BisA4,40019) -
vh 5% |LINK/4KJB/SJB /Pod
88| A~V — bR EL /MRS ET) A |14E |54 [1:COM TVNET+4 A EHEREWI-FIiTT A H5Ga—A (4,547 (BiiA5,00111) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
H88HE| A~ — L /N EREE) VA |14 |54 [):COM TVHNET+4 A EFEREWI-FIitT & JE10Ga—= [5,327H (BisA5,859F) 4,000/ (BisA4,40019) -
vh 5% |LINK/4KJB/SJB /Pod
H8IME| A~ — It L 7 QIERK)) HA |24 [F4E [J:COM TV+NET+G A - 40Ma—A  |2,785[1 (BiiA3,063M1) 4,000/ (BiiA4,400117) FORLOASZ A RET (72720 SRR
b {55 |LINK/4KJB/SJB TG AEREET)
FROME| A~ — B EL IR QIR B A 245 [JF&E []:COM TVNET+4 A - 120M=1—%  [3,071[ (BiiA3,378M) 4,000 (BiiA4,4007) BOHIRGAS AT (F2720 HAEDREIED
yh {14 |LINK/4KJB/SJB e EEREET)
HRIFE| A~ — bRV 7 QERK) A |24F [ FEk [1:COM TVNET+4 A EHEREWI-FIiTT A 320M=T—2  [3,547H] (BiiA3,9011) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
FROME| A~ — B EL N QIR A 245 [T []:COM TVNET+4 A FHSBEWI-FIE T & 1G2—= 4,047 (Biir4,4511) 4,000 (FiiA4,40019) -
b 5% |LINK/4KJB/SJB /Pod
IR A~ — bR EL /M QERK) A |24F [ FEk [1:COM TVANET+4 A EHEREWI-FIiTT A Je1Ga—2A  [4,047M (Fiir4,4511) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
M| A~ — R B EL IR QIR A 245 [JF&E []:COM TVNET+4 A FHEBEWI-FIE T & Je5Ga—A 4,547 (BiiA5,00119) 4,000 (FiiA4,40019) -
vh % |LINK/4KJB/SIB /Pod
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J:COM NET H—E 2

(20224E7H 1HLIREIC SR DB RS F)

BB c A2 Ly =2
2023410 1 H &

[ECIINER S 25 [fE%€ [J:COM o — 2% (3%2) TR Ee T L% WA FURERFDER (Bidk) | A 4RI REF (BLIA) | ZRAOMREREL (Bidk) [ ZRAMRRREL (BiiA) | (fiF5)
MR [JERE |LINK/4KJB/SJB/STV
B%
IR A~ — bRV 7 QERK) A |24F [ FEk [1:COM TVNET+4 A EHEREWI-FIiTT A J10G=—=  [5,327H (BiiA5,85911) 4,000 (BiiA4,400117) -
vk {E5 |LINK/4KJB/SJB /Pod
H94%E[In My Room ERII77 Atk 26 [H£4 [J:COM TVHNET+H A (VT [~ J1G=2—= (3,180 (BiiA3,498M) 1,000 (BiiA1,10019) -
fE% |LINK/4KJB/SJB FL BRI+
12M, 40M)
945 |In My Room BRI B2tk [248 [#A [:COM TVINET+HA(TVY |- 320M=t—A  [2,680[1 (BiiA2,948117) 1,000 (BiiA1,100117) -
5 |LINK/4KJB/SJB POAENAVANEE
12M, 40M)
H94%E[In My Room ERII77 Atk 26 [H£4 [J:COM TVHNET+H A (VT |- 1Ga—= 3,180M (BiiA3,498M) 1,000 (BiiA1,10019) -
fE% |LINK/4KJB/SJB FL BRI+
12M, 40M)
H94F&[In My Room Fj| 75> Atk |24F A [1:COM TV+NET+HA (VT |- Je5Ga—A (3,680 (BiiA4,0481) 1,000 (BiiA1,10019) -
{E5 |LINK/4KJB/SJB FUBIAL R R
12M, 40M)
H94%E[In My Room FERII77 Atk [248 [H4 [1:COM TVHNET+H A (VT |- J10G=—2 (4,460 (BiiA4,90619) 1,000 (BiiA1,100M9) -
fE% |LINK/4KJB/SJB FL BRI+
12M, 40M)
#5134 [In My Room F55 75> 2 |%£4A |J:coM TVANET (TVZZUB |- F1G=—= (3,180 (FiiA3,4981) 1,000 (BiiA1,100117) -
i 5 |LINK/4KJB/SJB -+ 12M, 40M)
#5134 [In My Room H55175> 2% |4E5 |J:COM TVANET (TVZZUB |- 320M=t—%  [2,680F1] (BiiA2,948M9) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB +12M, 40M)
#5134 [In My Room F55 75> 2 |%£4A [J:coM TVANET (TVZZUB |- 1Ga—* 3,180 (FiiA3,4981) 1,000 (BiiA1,100117) -
i 5 |LINK/4KJB/SJB -+ 12M, 40M)
#5134 [In My Room #5575 2% |45 |J:COM TVANET (TVZZUB |- 56— (3,680 (BiiA4,048M9) 1,000 (BiiA1,10019) -
i {1 |LINK/4KJB/SJB +12M, 40M)
#5134 [In My Room F55] 75> 24F |44 |J:CcOM TVANET (TVZZUB |- H10G=—A (4,460 (FiiA4,90611) 1,000 (BiiA1,100117) -
i 5 |LINK/4KJB/SJB -+ 12M, 40M)
%136 [In My Room £55I7 7 Atk [248 |4 [J:COM TVHNET+H A (VT |- J1G—= (3,180 (BiiA3,498M) 1,000 (BiiA1,100M9) -
[ fE% |LINK/4KJB/SJB F2B+12M, 40M)
%136 [In My Room 51757 B2tk 24 [#A [:COM TVINET+HA(TVY |- 320M=t—A  [2,680[1 (BiiA2,948M17) 1,000 (BiiA1,100117) -
fi % |LINK/4KJB/SJB F2B+12M, 40M)
%136 [In My Room £55I7 7 Atk 248 |4 [J:COM TVHNET+H A (VT |- 1Ga—= 3,180M (BiiA3,498M) 1,000 (BiiA1,100M9) -
[ fE% |LINK/4KJB/SJB F2B+12M, 40M)
#5136 [In My Room 3|75 Atk |24F |4 [1:COM TVHNET+HA (VT |- Je5Ga—A (3,680 (Biir4,0481) 1,000 (BiiA1,10019) -
fi % |LINK/4KJB/SJB F2B+12M, 40M)
%136 [In My Room £55II7 7 Atk [248 |4 [J:COM TVHNET+H A (VT [~ J10G=—2 (4,460 (BiiA4,90619) 1,000 (BiiA1,100M9) -
[ fE% |LINK/4KJB/SJB F2B+12M, 40M)
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J:COM NET #—E 2% Bk (200w
(20224ETH 1HLARRIZ TR OB HE S F) 2023410 4 1 H &

[EVTIES 24 | []:COM o— 2% (3%2) TN EIRET B
MR [JERE |LINK/4KJB/SJB/STV
B%

oul
m

HEFRIREL (Bidk) | HBFRTE (BUA) [S6REREH (Bltk) | RKMEREH(BLA) | (65)

#5138 [In My Room 575> 2 |4 [J:coM TVANET (TVZZUB |- H1G—= (2,180 (FiiA2,3981) 1,000 (BiiA1,100117) -
il % |LINK/4KJB/SJB ALY +120M)
#5138 [In My Room F55175> 2% |4E5 |J:COM TVANET (TVZZUB |- 320M=t—% [1,680F1] (BiiA1,848M9) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB 22787 R+ 120M)
#5138 [In My Room F55 75> 2 |%£4A |J:coM TVANET (TVZFUB |- 1Ga—* 2,180 (FiiA2,3981) 1,000 (BiiA1,100117) -
fill fE% |LINK/4KJB/SJB 287 R+ 120M)
%5138 [In My Room #5575 2% |5 |J:COM TVANET (TVZZUB |- 56— (2,680 (BiiA2,948M) 1,000 (BiiA1,10019) -
i {15 |LINK/4KJB/SJB 22787 K+ 120M)
#5138 [In My Room F55 75> 24F |44 |J:CcOM TVANET (TVZFUB |- H10G=—A (3,460 (FiiA3,80611) 1,000 (BiiA1,100117) -
fill fE% |LINK/4KJB/SJB 237 R+ 120M)
#5140 [In My Room $55I7 7 Atk [248 |4 [J:COM TVHNET+H A (VT |- J1G=—= (2,180 (BiiA2,398M) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB FUBAL Y+

120M)
#5140 [In My Room 3|75 Atk |24F A [1:COM TVHNET+HA (VT |- 320M=—X  [1,6801 (BiiA1,84811) 1,000 (BiiA1,10019) -
Fill 5% |LINK/4KJB/SJB POAEN VAN

120M)
#5140 [In My Room FRI75 B2tk [248 [#ES [J:COM TVANET+H A (VY [~ 1Ga—= 2,180M (BiiA2,398M) 1,000 (BiiA1,100M9) -
i {14 |LINK/4KJB/SJB FUBAL T+

120M)
%140 [In My Room #5175 B2tk [24E [#A [:COM TVANET+H A (TVS |- H5G—= (2,680 (BiiA2,948M1) 1,000 (BiiA1,100117) -
Fill 5% |LINK/4KJB/SJB PO EN AV

120M)
#5140 [In My Room B RIS 2tk 248 [#ES [J:COM TVANET+H A (VY [~ J10G=—A (3,460 (BiiA3,80619) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB FUBaL Y+

120M)
#5142 [In My Room F55 75> 2 |%£4A |J:coM TVANET (TVZZUB |- F1Ga—= (2,180 (FiiA2,3981) 1,000 (BiiA1,100117) -
fi 5 |LINK/4KJB/SJB +120M)
#5142 [In My Room H55175> 26 |25 |J:COM TVANET (TVZZUB |- 320M=t—% [1,680F1] (BiiA1,848M9) 1,000 (BiiA1,100M9) -
i {14 |LINK/4KJB/SJB +120M)
#5142 [In My Room F55 75> 24E |44 |l:CcOM TVANET (TVZZUB |- 1Ga—* 2,180 (FiiA2,398M) 1,000 (BiiA1,100117) -
fi 5 |LINK/4KJB/SJB +120M)
#5142 [In My Room H551 75> 2% |5 |J:COM TVANET (TVZZUB |- 56— (2,680 (BiiA2,948M) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB +120M)
#5142 [In My Room F55 75> 24E |44 |J:CcOM TVANET (TVZFUB |- H10G=—A (3,460 (FiiA3,80617) 1,000 (BiiA1,100117) -
fi 5 |LINK/4KJB/SJB +120M)

TVINET+AA(TVY |- J1Ga—= (2,180 (BiiA2,398M) 1,000 (BiiA1,10019) -

%144 [In My Room 55177 Atk [248 |4 [J:COM
i {14 |LINK/4KJB/SJB 5 B+120M)
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J:COM NET #—E &
(20224E7H 1HLIREIC SR DB RS F)

[ECIINER S 2 [ [1:CcoM o— 25 (3%2) TR Ee T L% WA FURERFDER (Bidk) | A 4RI REF (BLIA) | ZRAOMREREL (Bidk) [ ZRAMRRREL (BiiA) | (fiF5)

MR [JERE |LINK/4KJB/SJB/STV

B%

#5144 [In My Room Fj|75> Atk [2fF |4 [1:COM TV+NET+HA (VT |- 320M=—X  [1,680Y (BiiA1,84811) 1,000 (BiiA1,10019) -
fill {5 |LINK/4KJB/SJB Z> B+ 120M)
%144 [In My Room 55177 Atk [248 |4 [1:COM TVHNET+A A (VT |- 1Ga—= 2,180M (BiiA2,398M) 1,000 (BiiA1,10019) -
i {14 |LINK/4KJB/SJB 5 B+120M)
#5144 |In My Room #5177 B2tk [24F [#A [:COM TVANET+H A (TVS |- H5G2—= (2,680 (FiiA2,9481) 1,000 (BiiA1,100117) -
fill 5 |LINK/4KJB/SJB Z> B+ 120M)
%144 [In My Room 55177 Atk [248 |4 [J:COM TVHNET+H A (VT [~ J10G=—= (3,460 (BiiA3,80619) 1,000 (BiiA1,100M9) -
i {15 |LINK/4KJB/SJB 5 B+120M)
#5146 |A~—FBE 7T TVANETa—Z  [14E  [HES [J:COM LINK/4KJB  [— EHEREWI-FIiTT A 1Ga2—= 5,028 (BiiA5,53011) 4,500 (BiiA4,950117) -
fill (EAET) (e /Pod
H146 [A~—FPF7T TVANET2—% |14 [#£4A [J:COM LINK/4KJB  |[— EHEREWI-FITT & 320M=—%  [4,528[1] (BiiA4,98011) 4,500 (FiiA4,95019) -
i (EEHEE) e /Pod
#5146 |A~—FBE7F TVANETa—Z  [14E [HES [J:COM LINK/4KJB  [— EHEREWI-FIiTT A J10G=—A (6,308 (BiiA6,9381) 4,500 (BiiA4,9507) -
fill (AT (e /Pod
H146 [A~—FPF7T TVANET2—% |14 [#£4A [J:COM LINK/4KJB  |[— EHEREWI-FITT & Je1Ga—= [5,028] (BiiA5,530117) 4,500 (FiiA4,95019) -
i (EEHEE) e /Pod
#5146 |A~—FBE7F TVANETa—Z  [14E  [HES [J:COM LINK/4KJB  [— EHEREWI-FiTT A H5Ga—= [5,528[ (FiiA6,08011) 4,500/ (BiiA4,9501) -
fill (EAET) (e /Pod
F14T [ A~—FBET7F TVANET=—X (2288 [/F 2 [J:COM LINK/4KJB  |[— EFEREWI-FitT & 1Ga—= 5,028 (BiiA5,53011) 4,500/ (BiiA4,95019) -
i HERR) e /Pod
H147 [ A~—hBETFT TVINETa—RX (2245 [/ 2 [J:COM LINK/4KJB  |[— EHEREWI-FiTT A 320M=—2A  [4,528[1] (BiiA4,98011) 4,500 (BiiA4,9501) -
il AEELK) e /Pod
H14T [ A~—FBE7F TVANETa—X (2288 [/F 2 [J:COM LINK/4KJB  |[— EHEREWI-FITT & JE10G=—= (6,308 (BiiA6,93811) 4,500 (FiiA4,95019) -
i HERR) e /Pod
14T [A~—FBEF7T TVANET2—Z (2[24F  [F4k [J:COM LINK/4KJB  |— EHEREWI-FiTT A Je1Ga—= (5,028 (BiiA5,53011) 4,500 (BiiA4,950117) -
il AEEK) e /Pod
F14T [ A~—FBET7F TVANET=—X (2[28F [JF 2 [J:COM LINK/4KJB  |[— EHEREWI-FITT & Je5Ga—= [5,528M] (BiiA6,08011) 4,500 (FiiA4,95019) -
i HERR) e /Pod
#5148 |In My Room A~—hB1H77 14 |[#E4 |J:COM LINK/4KJB  [TVZ'ZrBar <7k |- F1Ga—=  |5,418[1 (FtiA5,9591) 4,500/ (BiiA4,9507) -
il TV+NETZ— 2 (14E5259) e
#5148 [In My Room A~—FBEF75 14 [#£4 [J:COM LINK/4KJB [TV 72D - Je1G—=  [5,228[ (BiiA5,75011) 4,500 (BiiA4,95019) -
[ TVHNET=— 2 (14E5249) £
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J:COM NET H—E 2

(20224E7H 1HLIREIC SR DB RS F)

[ECIINER S 25 [fE%€ [J:COM o — 2% (3%2) TR Ee T L% WA FURERFDER (Bidk) | A 4RI REF (BLIA) | ZRAOMREREL (Bidk) [ ZRAMRRREL (BiiA) | (fiF5)

MR [JERE |LINK/4KJB/SJB/STV

B%

#5148 [In My Room A~ —hB575> 14E 8D [J:COM LINK/4KJB  |TVFFoBar 37k |- 320M=1—Z  [4,918[1] (BiiA5,40911) 4,500 (BiiA4,95011) -
i TVANETZ— 2 (14E325) £
#5148 [In My Room A~—FBEF75 14 [#4 [J:COM LINK/4KJB  [TVZZ2D - 320M=—2 4,728 (BiiA5,200117) 4,500 (FiiA4,95019) -
[ TVHNET=— 2 (14E249) £
#5148 |In My Room A~—hB1H77 14 [#E4 |J:COM LINK/4KJB  [TVZ'ZvBar <7k |- 1Ga—2A 5,418 (BiiA5,9591) 4,500 (Bi3iA4,950[1) -
il TV+NET=— 2 (14E5259) e
#5148 [In My Room A~—FBF75 14 [#4 [J:COM LINK/4KJB [TV 72D - 1Ga—= 5,228 (BiiA5,75011) 4,500/ (FiiA4,95019) -
[ TVHNET=— 2 (14E249) £
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